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® C(College Admissions:
Two phases:
a) The Applications phase
b) The Enrollment phase
The risk in admission process
a) Enroll too many students
1. Enroll not enough students
. EARER
Deferred Acceptance Algorithm
Participants
® Set of men M, with typical man meM
® Set of women W, with typical woman w e¥.
® One-to—one matching: each man can be matched to one woman, and
vice-versa.
Preferences
® Fach man has strict preferences over women, and vice versa.

® A woman w is acceptable to m if m prefers w to being unmatched

Algorithm:
(1) Each man proposes to highest woman on his list
(2) Women make a “tentative match” based on their preferred offer, and
reject other offers, or all if none are acceptable
(3) Each rejected man removes woman from his list, and makes a new offer.
(4) Continue until no more rejections or offers, at which point implement

tentative matches
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